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QUESTION 1

Which Cisco-validated design (CVD) is built upon the Cisco Unified Computing System (Cisco UCS), the Cisco Nexus
family of switches, and NetApp storage controllers (FAS or AFF)?

A. FlexPod

B. HCI

C. E-Series

D. StorageGRID

Correct Answer: A

QUESTION 2

Which three Element software global efficiencies are always active? (Choose three.)
A. quality of service

B. redundant array of inexpensive disks (RAID)

C. thin provisioning

D. data deduplication

E. data compression

Correct Answer: CDE

QUESTION 3

You want to use NetApp Cloud Volumes ONTAP as a data replication target for your primary ONTAP storage systems.
In this scenario, what are three cost-saving business benefits? (Choose three.)

A. the ability to run without purchasing a license as long as your production workload is less than 2 TB

B. the ability to shut down the virtual instance to save on compute costs

C. the ability to provision added capacity when you need it

D. the ability to migrate clusters between public cloud providers to take advantage of price differences

E. the ability to tier inactive data to less costly storage

Correct Answer: CDE
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QUESTION 4

What are two methods to subscribe to Cloud Insights? (Choose two.)
A. NetApp Cloud Central

B. NetApp Sales

C. NetApp Support Site

D. AWS Marketplace

Correct Answer: BD

QUESTION 5

You have a centralized data center running NetApp ONTAP. Your business is deploying a new loT solution directly
managed by the Azure IoT hub. You want to store data in the cloud for use with data analytics.

Whish NetApp solution would accomplish this task?
A. Cloud Secure

B. Cloud Volumes ONTAP

C. Cloud Backup Service

D. Cloud Insights

Correct Answer: B
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